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Addition, Soustraction et Multiplication (I) RéponsesCalculez chaque somme, différence ou produit.3 + 7 = 10 8 - 3 = 5 6 × 4 = 24 8 + 9 = 1710 × 5 = 50 10 × 10 = 100 4 + 9 = 13 10 × 1 = 108 × 1 = 8 9 × 4 = 36 12 - 9 = 3 8 × 9 = 721 + 6 = 7 7 + 1 = 8 5 × 6 = 30 14 - 8 = 68 × 7 = 56 10 + 2 = 12 6 × 6 = 36 6 × 1 = 67 × 2 = 14 4 + 9 = 13 4 - 3 = 1 9 + 4 = 1310 - 2 = 8 4 + 9 = 13 8 + 9 = 17 7 + 9 = 168 × 4 = 32 9 + 6 = 15 3 × 7 = 21 15 - 6 = 93 + 6 = 9 2 × 3 = 6 10 - 4 = 6 5 × 8 = 409 + 8 = 17 8 + 7 = 15 14 - 9 = 5 3 + 8 = 1113 - 9 = 4 8 + 9 = 17 10 × 7 = 70 8 - 7 = 14 × 4 = 16 8 + 10 = 18 1 × 7 = 7 13 - 5 = 82 + 10 = 12 13 - 7 = 6 4 × 4 = 16 6 + 2 = 812 - 8 = 4 8 × 8 = 64 8 × 8 = 64 5 + 8 = 1318 - 8 = 10 16 - 6 = 10 5 + 4 = 9 5 - 3 = 214 - 9 = 5 3 × 5 = 15 2 × 5 = 10 7 - 1 = 64 × 1 = 4 9 - 6 = 3 6 × 7 = 42 7 - 5 = 27 × 6 = 42 12 - 9 = 3 3 + 7 = 10 12 - 9 = 31 + 4 = 5 8 × 8 = 64 4 × 5 = 20 2 + 3 = 58 + 8 = 16 1 × 1 = 1 2 × 5 = 10 4 + 10 = 148 - 4 = 4 3 × 10 = 30 2 + 6 = 8 3 × 3 = 91 + 9 = 10 10 + 4 = 14 10 × 7 = 70 12 - 3 = 910 + 2 = 12 10 + 5 = 15 15 - 5 = 10 7 × 4 = 2810 + 10 = 20 12 - 8 = 4 10 - 4 = 6 7 + 2 = 95 × 9 = 45 2 × 3 = 6 9 - 3 = 6 12 - 5 = 7Mathslibres.com


